I

2 | 3 5 6
§ BREYTINGAR
‘ | BREYT.| DAGS. SKYRINGAR: SAMP,

P
I

5
5

[ )
3 S— ; =

7 T & K |
= (o] 140 (IMIREI
i 65X300 -
70 40,2 i
i Y .
e b i
o ]

- STALPLATA

\

220x130%8

STALPLATA
280x70%10

M10 MURBOLTAR

o
iy e A7

M16 BOLTAR

|
N

- M12 BOLII

o —

LIMTREBITA .SKAL SKORDA

TRYGGILEGA UNDIR FLANS
A IPE400 STALBITA T

h=.;l-,m
|
- }

; T A7 et

‘ T |
[ of 40 LMIRE]
: 'y & [ 65X300
| ; |

" . _l

~

Sewmin s sy =

"\\Z““ VINKILL 200X80X8
-y

|

-------

a
l y 1 )
I
3 ! |
Vi | ©
=} ,‘/"'_"'I f"‘ ) ‘ =
et 2
: [mar ]
/I ) : :
o ——-" | % i .
—_ ' o | i 5 M16 BOLTAR- e
3 © | STALPLATA ' )
260x130x8 : |
\ STALPLATA | —_
320x70x10 | --:'f} Y .
M12 MURBOLTAR g : " ~
]
SNID_10. 1:10 SND g=g. 1:10 |
: !
N
D |
| T - )
JON BERGSSON e VERKFRADIHONNUN :
TJ | e e weel  SMARAHVAMMI 4, HAFNARF. S. 51974f 4 ;
R I ' CM=1:t0 |
| 10 | 95 | DALSHRAUN 6, STAKKUN | |
b Tamm VERK o ' DAGS, 5
: _\ (95114006 / 1=1 A2 (?\> 9511 | SERMYNDIR Jwal 1905 |



